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[bookmark: _GoBack]Cognitive Reflection Test Scoring Procedure

There are 3 total types of possible responses: Correct Answer, Intuitive Incorrect Answer, and Other Incorrect Answer (Non-Intuitive Incorrect Answer)

Answers:
1. If three elves can wrap three toys in hour, how many elves are needed to wrap six toys in 2 hours? 
(Intuitive answer: 6; correct answer: 3)
2. In an athletics team, tall members are three times more likely to win a medal than short members. This year the team has won 60 medals so far. How many of these have been won by short athletes? 
(Intuitive answer: 20; correct answer: 15)
3. If John can drink one barrel of water in 6 days, and Mary can drink one barrel of water in 12 days, how long would it take them to drink one barrel of water together? 
(Intuitive answer: 9; correct answer: 4)
4. Jerry received both the 15th highest and the 15th lowest mark in the class. How many students are in the class? 
(Intuitive answer: 30; correct answer: 29)
5. A man buys a pig for $60, sells it for $70, buys it back for $80, and sells it finally for $90. How much has he made? 
(Intuitive answer: 10; correct answer: 20)
6. Simon decided to invest $8,000 in the stock market one day early in 2008. Six months after he invested, on July 17, the stocks he had purchased were down 50 %. Fortunately for Simon, from July 17 to October 17, the stocks he had purchased went up 75%. At this point, Simon has: 
a. Broken even in the stock market
b. Is ahead of where he began
c. Has lost money.	
 (Intuitive answer: b; correct answer: c)

5 Ways of Scoring:
(Obtained from http://www.tandfonline.com/doi/full/10.1080/20445911.2016.1278004)
1. CRT-Regular
· Add up all correct answers 
· Scores range from 0 (subject gave all either intuitive incorrect or other incorrect responses) to 6 (subject gave all correct responses)
*Higher scores reflect more correct responses

2. CRT-Intuitive (Inverted Scoring of CRT-Regular)
· Add up all intuitive incorrect answers
· Scores range from 0 (subject gave all either correct or other incorrect responses) to 6 (subject gave all intuitive incorrect responses)
*Higher scores reflect more intuitive incorrect response

3. CRT-Proportion Intuitive
· Create a proportion based on total incorrect responses: (# intuitively incorrect responses/# both intuitive and other incorrect responses)
· For example: Subject responds to 6 items with 1 correct answer, 3 intuitively correct answers, and 2 other incorrect answers (3 intuitively incorrect answers/5 total incorrect answers; Total Score= 0.6)
· Scores range from 0 (subject gave no intuitively incorrect answers) to 1 (all of subject’s incorrect answers were intuitively incorrect)
*This scoring procedure only takes into account 2 different types of incorrect responses, which can help predict a subject’s tendency to rely on their intuition
*Higher scores reflect higher tendency to rely on intuition

4. CRT-Reflection
· For each item, subject receives a score of 1 for all non-intuitive responses (i.e., correct or other incorrect); subject receives a score of 0 for all intuitive responses (i.e., intuitive incorrect)
· For example: Subject answered 6 items with 1 correct answer, 3 intuitively correct answers, and 2 other incorrect answers (Total Score= 3)
· Scores range from 0 (subject gave all intuitive incorrect responses) to 6 (subject gave all non-intuitive responses, regardless of correctness)
*This scoring procedure only takes into account 2 different types of non-intuitive responses (i.e., correct or other incorrect), which is based on the premise that, in order to arrive to a correct answer, one must first recognize that the intuitive answer is indeed incorrect. Thus, this procedure derives a subject’s ability to be sufficiently reflective and recognize that the intuitive answer is incorrect.
*Higher scores reflect subject’s ability to cognitively reflect

5. CRT-Calculation 
· Create a proportion based on total non-intuitive responses: (# correct responses/# total non-intuitive responses)
· For example: Subject answered 6 items with 1 correct answer, 3 intuitively correct answers, and 2 other incorrect answers (1 correct answer/3 total non-intuitive responses; Total Score= 0.33)
· Scores range from 0 (subject answered all items with other incorrect answers, and thus, non-intuitive) to 1 (all of subject’s answers were correct)
*This scoring procedure only takes into account 2 different types of non-intuitive responses (i.e., correct or other incorrect), and comes to a conclusion about a subject’s ability to arrive at a correct answer. This premise is based on both the previous scoring procedure (CRT-Reflective) and a subject’s possession of adequate numerical abilities.
*Higher scores reflect higher numerical ability
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